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Question Number : 1 Question Id : 26544814004 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The level of teaching that emphasizes memorizing facts and definitions 1s the:

2dire, Ao éoé‘fgm Jasneso 3°8) 3 s 5;033:

Options :

Reflective level
B&&odoh ﬁgo&a

Understanding level
©BPTT® oW

Memory level
g8 aPam
£ ®

Application level
@BB0:) Frow

Question Number : 2 Question Id : 26544814005 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Adolescent learners. compared to adult learners. typically place a greater
emphasis on:

BBressd @grgHod® RO, FPHrdid egdten drprdmore B
JEPD Baratert:
Options:

Self-directed learning and goal setting
& o ay
3050 gjé%ﬁ €900, O mg@ﬁm

1. %

2. ¥



Peer approval and social acceptance

SB 78 e93rsHn, DRy SV

Abstract thinking and complex problem-solving

oFIrE w50, 85 S HBYBEW

Prior Knowledge and experience

SR8 epiein shBdin eornglHsim
4, % =

Question Number : 3 Question Id : 26544814006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following factors relating to the teacher can significantly impact the
learning environment?

BrHNs Homofodd S (Eob woded® & woddn @EI5R DORIBER))
Keadohorr (Herdo SohKeH?

Options :

Teacher's preferred mode of transportation
= céd o 4
. OGRSEID (@i qéalj Barege mgéﬁ

Teacher's passion for the subject matter

egHHNE DNGho D &) e
2.

Teacher's ability to travel long distances
eggHBNE orer Brbo (a0 Sahke ‘ééar!gé
3. %

Teacher's knowledge of current events

DD SHrore D rgHtR) HBeRHim
4. %

Question Number : 4 Question Id : 26544814007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



A teaching method where the instructor delivers information through lectures and
demonstrations 1s considered:

Hesoid ﬁéaﬂgi‘v@, @Eﬁiﬂg%ﬁm @Oe HEPTPSRD e SR AR ﬁtée’ié&")
BeP ©OLPHD:
Options:

Learner-centered

eogTgl éo@%é

1. %

Collaborative learning
HadahHE @ajﬂéﬁfﬁlj
2. ®

Teacher-centered

. SaPERgeD éo@%eﬁ

Project-based learning

B ©oprdd egegdsn

Question Number : 5 Question Id : 26544814008 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Traditional teaching support systems often rely heavily on:

BoHmrahs Sdae Eﬁ)éeﬁ) étgr’_‘be_n &5e c‘fm:z'.g BRI erSHEEEaD:

Options :

Interactive online platforms and simulations

| w VBB Soy BS8S 36%en Hbcn okEdren

Blackboards. textbooks. and physical models

, v Sgween, arooddiseen, F8E SHiraren

Virtual reality tools and augmented reality experiences

SENHS BAsrd) HBETren, 5B Jodd B egfaren
3. % T & el &

Collaborative online learning environments
w w e o
HFBODE 808 egrsdE Homgiteeen

4. % -



Question Number : 6 Question Id : 26544814009 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

‘Systematic imvestigation to establish facts and knowledge’ 1s the definition of:
‘Dezren, %Eéa"m E}Ug}éméj [_ééneatg@-eé S5 &% BIHS D8 Aejalale
Options :

Learning

Ei'ajfgﬁ&")}]

Problem-solving

o S5 5O

Besearch

588%5%

3.¢

Ewaluation

mﬂ%oéém

Question Number : 7 Question Id : 26544814010 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

When studying the lived experiences of a specific community. a researcher might
employ a:

2.8 @’}é@é Rarez0 Wral Vet edigiaro efiichido Jdined
$H888 5% S5@rROSKOASE:
Options :

Positivist approach with standardized surveys

1% @B Etnnds Sowe’ e8] &8

Post-positivist approach through in-depth interviews

DHVePHBEDHS mobrdrge woe 8 2By &E)Esn

3. %



Both approaches equally

doth fﬁééo‘]{ﬁ“l’_}.] DEoedore

Both of the approaches are not employed.

Boto ﬁé},é‘\,ﬁ)‘“t’_}é} SI@rERoSm
4. % a

Question Number : 8 Question Id : 26544814011 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In an experiment. the independent variable is the one that 1s:
28 ($Harrdns® xdole Serodin atsdne:
Options :

Measured or observed

» SPoRNORG, H8ded JohEORs.

Manipulated by the researcher

5 ¢ DBFBHH edEsrd IcHKOADE

Held constant for control

DcHo(Ees Dol &otd

Not directly relevant to the study
@ ADT8 (HEgEore HomofHodHd s°th

Question Number : 9 Question Id : 26544814012 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Sharing your research findings with a wider audience through presentations or

publications falls under the step of:

58858 HOaeeH g}ﬁﬂ}é [ﬁ:ﬁé}@@ﬁ, D36 oo (2h8ese Tegoe
DoHED BF:
Options :
Formulating the research hypothesis

588 BB Sasrthdaint

1. %



Interpreting the results

5 % Pheroidh @dyonohé

Writing the research report

H0-8°Swe BTG (araind

Disseminating research findings

588050 H0Eread aT58) DA%

Question Number : 10 Question Id : 26544814013 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Reference management software can help with:
B530y) AEssires DB 5‘*'3;%35 B8 HPchHbo:
Options:

Generating random citations without checking sources

SdHhed $08 Ichdom dﬁpﬁﬁa&é e Bgaren 658 Dddmes
1. % »

Orgamizing and formatting your references in a specific style

5 2.8 ﬁéééﬁﬁléﬁ SIS VI Eﬁ(ﬁsé-%éésa, cﬁﬂm&ﬁom Sd%0e

Automatically paraphrasing sources to avoid plagiarism
HoET B NarrBohHerH Hgahore eprd HEearoer)) 2oerepedt

HofoiEBohes
3. %

Finding sources for your research

. 5885555 Hded IHHe

4.

Sub-Section Number : 2
Sub-Section Id : 265448573
Question Shuffling Allowed : No

Question Id : 26544814014 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix



Question Numbers : (11 to 15)
Question Label : Comprehension

Note : Answer the questions 11-15 by reading the following passage:

KRE: (8ol sl direrbo sgrdorr 11-15 D Sirgrare @abob.

In the smaller cities the presence of this significant landmark 15 almost mvariable. There 1s
ever the lone and lorn tower. belfry. or spire painted n dark sad colours, seen from afar off.
nising from the decayed little town below: often of some antique. original shape that pleases.
and yet with a gloomy misanthropical air, as of total abandonment. They are rusted and
abrased. From their ancient jaws we hear the husky. jangling chimes, musical and melancholy.
the disorderly rambling notes and tunes of a gigantic musical box. Towards the close of some
summer evening. as the train flies on. we see the sun setting on the grim walls of some dead
city. and on the clustered houses. Within the walls are the formal rows of trees planted mn
regimental order which fringe and shelter them: while rises the dark, copper-coloured tower.
often unfinshed and ragged. but solemn and funereal. or else capped by some quaint lantern.
from whose jaws presently issue the muffled tones of the chimes. halting and broken. and
hoarse and wheezy with centuries of work. Often we pass on: sometimes we descend, and
walk up to the little town and wander through its deserted strects, We are struck with wonder
at some vast and noble church, cathedral-like in its proportions, and nearly always original—
such variety 1s there in these antique Belgian fanes—and facing it some rustic mouldering
town-hall of surprising beauty.
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Sub questions

Question Number : 11 Question Id : 26544814015 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A regular and significant feature of smaller cities, according to the author is a

BSond (DHsedam D) Do (B, Headoh ©Fes0.

Options:

Watch tower
_— seajee Znthar

Light house

- 8&5 Seaer

Bell tower

Hoéy entner
3. ¢



Clock tower

4 % HESS snthe

Question Number : 12 Question Id : 26544814016 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The word that means. ‘erode’ in the above paragraph 1s
2 oS “erode” @ @g&bﬁb} At )

Options :

Gloomy
1. %

2.« Abrased

Muffled

Ragged
4,

Question Number : 13 Question Id : 26544814017 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The phrase, ‘fringe and shelter’ in the above context means “trees
that "

P HogEng® “Pof Hbcn nRE” wol) 3éy
Options :
Border and cover the walls

1.¢

5> % Encircle the house

Run around a group of houses

Creep over the walls
4,



Question Number : 14 Question Id : 26544814018 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In the above context, the phrase *solemn and funereal’ ring 1n a/an
mood.

) }ﬁotjég,a’meﬁﬁ “FrBan 0bcin HIVS” S éﬁé?@éé’%@ & SerHarom.
Options :

Blisstul

> % Eanthusiastic

Spirited
3. %

4 Dismal

Question Number : 15 Question Id : 26544814019 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The train passed through a/an city.
Ben Hod Srvo o HHAoD0k.
Options :

Crowded and crammed

Old and abandoned
2.

New and upcoming
3. %

Busy and bustling
4, #

Sub-Section Number : 3



Sub-Section Id : 265448574
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 26544814020 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The message sent by the sender in the form of words. pictures and gestures ete 13
by the receiver.

2.8 a8 Smerest, eS“éJé@eSﬁ, ?\50%@ Snderd Q8 Hoda, o8 ©otHER)
5 el S fore Dard.

Options :

Encoded
1. %

Decoded
o

3 % Encrypted

4. % Scripted

Question Number : 17 Question Id : 26544814021 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
communication cannot be fully relied upon in inter-cultural

communication because of differences in cultures which may lead to
misinterpretation.

éoﬁg&éj@ 0eg Hdroedodt SheleRavinlolby clala arSHEB5m,
JotHEos ﬁocﬁe‘fré}m Lot Hore Hed ob S5 DBeat mﬁ@@a&.

Options :

Verbal
FoL)E
(]

Wrnitten

D8



Non-verbal

eaFE)E
o
Listening
g x o

Question Number : 18 Question Id : 26544814022 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A teacher should be towards students in order to have a positive

classroom communication.

@dﬁﬁeﬁéé SBKE HoBdEn sPere0d, ﬁcﬁ'ﬂmﬂécﬁmﬁj €550 Sjmfgtﬁga}gﬁ [P
alelayl))

Options :

Empathetic
. Prej udiced

Biased
3. %

4% Stern

Question Number : 19 Question Id : 26544814023 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A noisy room that interferes with the smooth flow of communication can be
considered as a barrier.

HoBBEY Er&H S5K8 158 HoB¥ (Harsrosd éf’éacp S08%0énod. B
& oo wotrd.

Options :

Psychological
1. %

> % Physiological



Social
3. %

. Physical

Question Number : 20 Question Id : 26544814024 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Theatre. music and dance formats belong to media.

Baheth, Hohsdn, E’aeje‘%a’m & Segards HoaoBodKb.

Options:

Digital
1. %

Traditional

3 % Electronic

Social

Question Number : 21 Question Id : 26544814025 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Complete the series with next coming number: 999. 1000, 501. 168. 43.
Esoasns® Sdrares 0‘63{3 Loms & Jroodod: 999, 1000. 501. 168. 43.

Options :

10
1. %

8.6

3.v 2.6

11



Question Number : 22 Question Id : 26544814026 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A’s father. pointing towards a person B, said “She is the sister of my mother’s
only sibling” How 1s the person related to A?
A Bo¥y 0|13, B @9F 538 o Sradr. "esh o &) T3k S35 Santysy BB
FAO" @ Ty, & S:8 A & Jer Ho2080 FOR Sy &7

Options:

| % Mother

5 % Aunt

Sister
3. %

. Grandmother

Question Number : 23 Question Id : 26544814027 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In a race. A gives B a HeadStart of 200 m and still beats him by 100 m. If A’s
speed 15 10/7 times B’s speed what 1s the length of the race?

A B¢, A B 8200 63 3r&EE 2008 OGN @000 1638 @D 100
VS 2.E30006. A TK0 B FK0 Z0T) 10/7 BLY S0 B RBS D0eh?

Options :

1 % 1.5 km

.
w 2.0 km

3 @ 1.0 km

3.0 km



Question Number : 24 Question Id : 26544814028 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

‘A’ sold a watch at a profit of 10%. If he had bought it at 10% less and sold it for
Rs. 13 less he would have made a profit of 15%. What 1s the cost price of watch ?
A 2.8 TG0 10% ergiod DFEonord). @bl 10% %0355 Feoffen T &r. 13
55078 50 @S @S 15% TS0 o, T &8 D0?

Options :

1. ¢ 200

300
. 400

480

Question Number : 25 Question Id : 26544814029 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A sum of money compounded annually amounts to Rs. 5.120 1n 3 years and Rs,
7.290 in 6 years. Find its annual rate of interest.

J0BHTRS BT SEBES® LB Jweto dr. 3 Do e’ 5,120
6 Dode yoeS" 7.290e008008. 0% 3¢ Bend SHFS0E.

Options :

1 % 75%

10%

Y g0y

Question Number : 26 Question Id : 26544814030 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the Venn diagram with three sets A, B and C like as follows, with a=10,
b=3, ¢=12, d=5, e=8. £=6. n(A)=30, n(B)=25; n(C)=35. Then g =?

& (8ol Srd Dforr AB.C R Srtd 2tn EOAS VS A$He08° a=10,
b=3, c=12, d=5, e=8. =6, n(A)=30, n(B)=25; n(C)=35 ®ond g="?

Options :

1.% ©

2. %

3. ?

4w 12

Question Number : 27 Question Id : 26544814031 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Statements:

QB exn:
No building 1s a wall.

D #Hddr a8 A seth.

Some walls are rooms.
8"y Riten Hesen.
All buildings are rocks.
eR)) ddaren U“ﬁ];]
Conclusions:

SwAoY edarcio:

I. No building 1s a room.

&) DD KB oKD,

II. Some rooms are buildings.

5°Q)) fithen gdaren.

III. Some rocks which are not buildings being walls 1s a possibility.

gdaren 520 B Dﬂﬁ;@, ﬁﬁtﬁﬂcﬂaag widsedo &ob.



Options :

. Only III follows

5 % Either I or II follows.

Only I and IIT follows

Only IIT and either I or IT follows.
4.

Question Number : 28 Question Id : 26544814032 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The distinction between Savikalpaka (determinate) and Nirvikalpaka
(indetermunate) 1s made with respect to which of the following pramanas?

FOENE, DBEeNE g é%mvﬁj&éa B (SSrerd) o8 &gm@gé}?
Options :

. Anumana (inference)
1.

> Pratyaksa (perception)

3 % Arthapatti (postulation)

Upamdana (comparison)
4. %

Question Number : 29 Question Id : 26544814033 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In a certain code language. if SP 1s coded as UR and LO 1s coded as NQ then TV
1s coded as

2.8 B grié® SPH UR i, LO & NQ i EP68808¢0ma TV
aner (B AEB5.

Options :



VX
4.+

Question Number : 30 Question Id : 26544814034 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following lists with correct ones:

HBFE BE° 28585HS0:

List-I List-I1
eeé)a -1 ed)ee — 11
a. Pratyksha 1. Perception
e wh
S8 @go 5@5”36&&
b. Anumiti 11. Presumption
VRV &35
¢. Upamana 111. Comparison
SRSt v 850E
d. Anumana iv. Inference
@087 270595
Options :
1. % a-L b-i1.  c-iii,  d-iv
o ® a-iv, b-i1, e-1.  d-iii
3. « a-l. b-1iv. c-m. d-11
4 % a-iv. b-iii, c-i1, d-i
Sub-Section Number : 4
Sub-Section Id : 265448575

Question Shuffling Allowed : No



Question Id : 26544814035 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)
Question Label : Comprehension
Note:  Answer the questions Q.31 to Q. 35 on the basis of the information given below.
raRE: S0t mld darardo egrdore Q3106 Q.35 HEpH Sdrgrare
[aeaod.

The number of votes cast in an election i five Assembly constituencies: A B, C, Dand E
the state of Telangana during the last three election years 2014, 2018 and 2023 are presented in
the following Bar diagram.

b SOk 3 580 2014, 2018 B 20236 BOOTE TSR D) &902)

JATWrEESTEN A,B,C,D SO0 E O 2008 255 FBS 4.6 Howg (206
7B BerdsoeS (S0 0050808.

Number of Votes casted in the last three election years

B34

D 873
535,782
R 247 545
C 751 437
48,659
197,342
921346
I 131 443
A 6,851
318,461
0 100,000 200,000 300,000 400,000 500,000 600,000
A B C D E
m2014 181443 197,342 242 548 458,894 361,678
E2018 196,851 139,597 254432 498 873 403,621
m2023 218461 221,346 248,659 535,782 422,562

W2014 WM2018 W2023

Sub questions

Question Number : 31 Question Id : 26544814036 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What is the total number of votes cast in the five constituencies in the year 20187

2018 &' ¢ ATPBEST'S FBS TNB0 4,8 HOBWE JOES?
Options :

14.41.905
1. %

2.



15.53,374

3 x 1543374

4 % 16.46.810

Question Number : 32 Question Id : 26544814037 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 15 the least number of votes polled in the given five constituencies in the year
20237

L LY il 5 ¥y -6 ' (¥4 1 W
2023 50365 3506Y DD I 0N ATTTeESTE 580} 09 FSeS 2,8 oD
o)0es?
Options :

1. % 1.97.342

1.81.443

3. v 2.18.461

4 % 199597

Question Number : 33 Question Id : 26544814038 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In which constituency the number of voters decreased when compared with 2018 and
20237
2018, 202368 OB & ATTreE5¢0eS 8,60 dows SHoH?

Options :

1. ® f
2. % B
C



Question Number : 34 Question Id : 26544814039 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In which constituency the number of voters inereased more when compared with 2018
and 20237

2018 SHOOKD 20238 OB & ATraESG0eS .68 HowE DOROE?

Options :
A

Question Number : 35 Question Id : 26544814040 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The total number of votes polled in the C. D and E in 20187
20186Y C, D, E & 30650 2,8 D0 s DOes ?

Options :

11.56.926

> % 11.63.126

3 % 12.46.926

Sub-Section Number : 5
Sub-Section Id : 265448576
Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 26544814041 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is open source?

& B0 AE° HBH gy sBGERACSKD BIB DH?
Options :

1. % MS Word

Windows
2.

Mozilla Firefox
3.¢
4 % Acrobat Reader

Question Number : 37 Question Id : 26544814042 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What should you do to ensure secure online transactions?
88 HProre HOBERD DEDHOLHE?
Options :

Lock your computer

Bosggoth & a¥o S50t

1. %
Give credit card or bank details only on safe websites
v Béens=th, eroH oren THESDS S5 pe5es adnl
2. i
Use anti-virus
5 x O0838R aSErhobHe

Do not use pirated software

@é&é@é %‘9%35263 P EothHe



Question Number : 38 Question Id : 26544814043 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What should a strong password consist of?

OIS FRHE Jer sorD?

Options :

Only letters
eE0eD Soehsdh

1. %

Numbers and special characters

@OSen, {gj’ééé svﬁéq';

Name of a person

558 S

Letters. numbers and special characters
egoren, ®o8en, {‘_af:ééé sﬂfﬁg@ﬁ

Question Number : 39 Question Id : 26544814044 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Internal communication within institutions 1s done through
Joge e ©0S8S HoBdo B weoe HOHB

Options :

LAN
1.¢

WAN

EBB

MMS



Question Number : 40 Question Id : 26544814045 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

HTML is used to create
820 HhoHedH HTIML oGSt
Options :

Machine language program

| % airolBE gy (88 (resw

High level program

S %;DJJ (&8readn

Web page
35

Web server

35 S

Question Number : 41 Question Id : 26544814046 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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A source of renewable power which can be developed with minimum cost 1s:

E0g3 5’35653055 5DEGe S8 S SERaNA JoHOABH
Options:
Biomass power

DEPSFS S8
1.9

Tidal power

BS <8

Wind mills
el Sotien

4. %



Geothermal energy
63 Domoy I8

Question Number : 42 Question Id : 26544814047 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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In which part of India. the tropical Western Ghats are situated?

5308056 ) |[grodihoth sgRnote HEnd Shinen Soi?

Options :

Pumjab
Hoeed

Kerala

L, B

Madhya Pradesh
EAVIny tSlnks]

Rajasthan

ore3a P
(]

Question Number : 43 Question Id : 26544814048 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Sustainable Development Goals (SDGs) are formally known as. ..

Sy ateIntat el @&é&% OSTED DT

Options :

Transforming Our World: 2030 Agenda

v 308 (Do) Srdne: 2030 e@one

Sustainable Living for All: 2022 Agenda

©o68 RBS L50: 2022 eBow
2. ®



Life of Dignity for All: 2022 Agenda
woB8 MEH0&® et #D80: 2022 eBome

One Planet, One People: 2030 Agenda

4% 2.8|15550, 28 220 2030 wBoe

Question Number : 44 Question Id : 26544814049 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Among the following fuels of energy. which are the most environments friendly?

& 89D 38 morTredt, 28 QBN Dot Birsede Gotron?

Options :

Biogas

3 ¥ Hydrogen

Ethanol
4, %

Question Number : 45 Question Id : 26544814050 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

One of the anthropogenic sources of gaseous pollutants chlorofluorocarbons n air
15

& (Bod Q&S Soeedadesdy aeciD é@é&‘{ﬂﬁ:éﬁﬁj 2,88 g‘jﬁ%"‘ﬁ%ﬂ@%ﬁ)@éﬂ
SoTeers:
Options :

Cement Industry
5 Thotn HBFED

Fertiliser industry

- aniye HOEn



Foam industry

L o D SO

Pesticide industry

syt shothe HB|ED
4. %

Question Number : 46 Question Id : 26544814051 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Which 1s the first Engineering College of India?

=0l Bt mozdBorh sod He?

Options :

Thompson College

P.S.G. College of Technology

2. %

, x INTU
VIT

4, %

Question Number : 47 Question Id : 26544814052 Question Type : MCQ Option Shuffling : No
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Prime Minister Research Fellowship 1s for students pursuing a Ph.D. programme in:

95.3275.8 [Brsns’ Hersdold H88%m asssdsto & &Ipd QgL
Tet:lelnletAIN AN

Options :

1 % State and Central Umiversities

> Central Universities, IISc. IITs, NITs. IISERs, and ITIT

3 % IISc. IITs. NITs. IISERs. IIITs. State and Central Universities



IITs and IISc

Question Number : 48 Question Id : 26544814053 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The purpose of value education 1s best served by focussing on

DenBHos® Erés O ﬁé%’o & (Bob 08 BUD a1 ée0 Ho
J83E0H?

Options :

Cultural practices prevailing in the society.

Hmemod® &) %Oﬁ'@@é e958ea0en

1. %
Norms of conduct lay down by a social group.

5 % el Siurdean Eﬁiﬁnjfﬁﬁfl?ﬁ (DD DSHIrHE
Concern for human values.

3 v B DenHeoth o8 HS
Religious and moral practices and mstructions.

4% 08002008, IBE e3Besen, ArEden

Question Number : 49 Question Id : 26544814054 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Why Environmental Education 1s considered essential for children?
Heob HogHse Dy HnegEn dothded ©os?

Options :

Environmental education 1s only relevant to adults.

2ogRses DL Y88 Soo|sh H020HoIBE

Early exposure to environmental education can shape lifelong attitudes and
behaviours.

GRelelne e 2ogR8es g GO0 PO 208 Jptoen, SEHHO
DoErd SrdHi,



Children are too young to understand complex environmental concepts.

£350% Ho%dbes grONeod ©Bo BB e Heen 0 Dt

3. %

Children are not affected by environmental issues.

HomgEdes $E0dge (Derdo Heooz B,

4. =

Question Number : 50 Question Id : 26544814055 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Good Governance’ and ‘Participating Civil Society for Development” were stressed

in World Bank Report of....

“DHBareR” ‘@é]&é@)%eﬁﬁ :ﬂﬂeﬁgﬂ PEHErasn’ ek S B0 (HHod o

8ethes® 5°8) Samb.

Options :

1992
1.¢

1997
2000

2003

SectionId:

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :
Maximum Instruction Time:
Sub-Section Number :

Paper II

265448186
2

Online
Mandatory
100

100

200

0

1



Sub-Section Id : 265448577
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 26544814056 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The tone for broadcast news stories should be

Options :
Conversational. informal. and relaxed.

1.¢

Consistent with the rhetorical principles of Aristotle and cicero.
2. %

Similar to the tone adopted by a college lecturer.
3. %

Similar to the tone of a lawyer advising a client.
4, ®

Question Number : 52 Question Id : 26544814057 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

When a broadcast news story includes a name that may not be familiar to listeners
that name should.

Options :

_— Be withheld until the audience’s attention has been captured.

Be the first thing in the story so that the audience can get used to it.
2. %

Come at the very end of the story so as to imcrease suspense.
3. %

Be excluded entirely from the story.
4, ®



Question Number : 53 Question Id : 26544814058 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
When used in reference to newspapers and magazines the verb “cover” means to

Options :

Include a wide variety of things in an article
1. %

Pretend to write the truth but to cover up the facts
2. %

3 @ Research and write a story

Consult sources
4, =

Question Number : 54 Question Id : 26544814059 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The function used to find information on the web is called the

Options:

Seek function

1. %

) % Collect function
Search function
Find function

4. %

Question Number : 55 Question Id : 26544814060 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

Spam can be found
Options :
Mobile phones and emails

1. %

Emails

Mail boxes

Mobile phones. emails and mail boxes
4, &

Question Number : 56 Question Id : 26544814061 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

While writing a news story, never start a sentence with a figure, except that which
begins with a

Options :
Month

Question Number : 57 Question Id : 26544814062 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



In this kind of page layout, articles are put side by side so that the headlines are
adjacent

Options :

Tombstoning

Ears of newspaper

2. %

Banner
3. %

Kicker/Strapline
4, %

Question Number : 58 Question Id : 26544814063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The headline with more than two lines which are justified on the right side and
unjustified on the left is termed as

Options :

Hammer

Right angle

2. ¢

Crosser
3. %

Hanging indentation
4. &

Question Number : 59 Question Id : 26544814064 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



A recent trend in newspapers to highlight stories of inside pages on the first page
below the flag
Options :
Flash
1.4

Deck

Headline
3. =

Lead

Question Number : 60 Question Id : 26544814065 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

draws a vivid word picture of the news setting, surroundings or

circumstances.
Options :

Narrative lead
1.9

Direct lead

Quotation lead
3. %

Staccato lead

Question Number : 61 Question Id : 26544814066 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The most notable event in Indian Journalism in 1948 was the formation of .....

Options :

Prasar Bharathi

Press Trust of India
2. %

Press Guld
3. ®

United news of India

Question Number : 62 Question Id : 26544814067 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Program genres where the unscripted behaviors of ordinary people are the focus of
interest is known as --——-—-—--—--—-—--

Options :
Realism

1. %

Actuality footage
2.9

Naturalism
3. %

Reality TV

Question Number : 63 Question Id : 26544814068 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Name the first communication satellite which was launched in 1962

Options :

Early Bird
1.9

Intelset
F

Intersputnik
3. %

Insat

Question Number : 64 Question Id : 26544814069 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following was developed the earliest?
Options :
AM Radio

Television

, » DRM

DTH

Question Number : 65 Question Id : 26544814070 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

~———————-—————-is associated with the invention of printing



Options :
Franklin

1. %

Johannes Gutenberg
2.9

Charles Babbage
3. %

Marcon

Question Number : 66 Question Id : 26544814071 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The nodal agency of the government to disseminate the information related to
government policies to print media:

Options :

PIB
1.¢

Doordarshan
2. %

Akashvam
3. %

Films Division

Question Number : 67 Question Id : 26544814072 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The first Chairman of the Press Council of India was
Options :

Justice J. R. Mudholkar



Justice Y. V. Chandrachood.

2. %

Justice V. R. Krishna Iyer
3. %

Justice Ranganath Mishra
4, ®

Question Number : 68 Question Id : 26544814073 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

“Four Theories of Press” was conceived by ...ccovvviiiiniinninnnnn
Options :

W. Schramm
1.9

J. Care

MecQuail

Mc Luhan

Question Number : 69 Question Id : 26544814074 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following denotes Internet radio broadcast?

Options:
Broadcast
1. ®
Narrowcast

2. %



Podcast
3. %

Telecast

Question Number : 70 Question Id : 26544814075 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The equalization of elements in a work of art is called

Options:
1 Balance
Unity
2. %
Rhythm
3. %

Movement

Question Number : 71 Question Id : 26544814076 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The word *Journalism’® is derived from the word ‘Diurnalis’.

Options :

Latin

French

Ttalian



English

Question Number : 72 Question Id : 26544814077 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

One line copy that describes the illustration, drawing or photograph is known as :

Options :

Cropline

Cutline
2.9

Cut off

Cut out

Question Number : 73 Question Id : 26544814078 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A press run of a publication for one day

Options :

Edition
1.9

Publication

Imprint

Preprint



Question Number : 74 Question Id : 26544814079 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The term Fourth Estate is coined by:

Options:

Edmund Burke
1.9

Thomas Carlyle

Chester Bernard

Henri Fayol
4, %

Question Number : 75 Question Id : 26544814080 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which section of IPC defines the offence of defamation?

Options:

409

1. %

499

498

424

Question Number : 76 Question Id : 26544814081 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Crystallizing Public Opinions was authored by
Options :

Ivy Lee
1. %

Edward I. Bernays
2.9

Thomas Friedman

Black Sam
4. %

Question Number : 77 Question Id : 26544814082 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Science is heuristic. This means that:
Options :

Findings should be able to be extended to sumilar situations or to similar people.

1. %
Scientific research must be based on evidence.

2. %

- Research findings should lead to more questions.
Research results are replicable or repeatable.

4, %

Question Number : 78 Question Id : 26544814083 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A variable:

Options :



Can be identified as independent or dependent.
1.9

Is the same as an operationalization.

Only appears in a hypothesis.
3. %

Consists of only one level.
4, %

Question Number : 79 Question Id : 26544814084 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The independent variable:

Options :

- Is sometimes called the criterion or outcome variable.

Is presumed to be the cause of change in the dependent variable.
2.9

. Is not expected to vary.
3. %

Does not need to be identified in a research question.
4, %

Question Number : 80 Question Id : 26544814085 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Validity is achieved when:
Options:

Researchers are consistent in their use of data collection procedures.



The measurement does what it 1s intended to do.
2.9

3 % Reliability 1s achieved.

The independent variable does not vary.
4. %

Question Number : 81 Question Id : 26544814086 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Measurement is:

Options:

The evaluation of a variable.
1. %

Describing something in a standardized form.
2. %

, An interpretive device.

Everything the researcher does to arrive at the numerical estimate.
4.9

Question Number : 82 Question Id : 26544814087 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A variable measured with discrete data means that the data identify participants as:

Options :

Belonging to one of at least two categories of a variable.
1.9

Belonging to several categories of a variable.
2. %



Having some position on a continuum of scores.

Being rank and compared to others.
4, ®

Question Number : 83 Question Id : 26544814088 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The categories of discrete data should:

Options :

Be anonymous and confidential
1. %

Be ranked in importance or value to one another.
2. ®

Be mutually exclusive. exhaustive and equivalent.
3.¢

Always include one category for zero or none of that characteristic

Question Number : 84 Question Id : 26544814089 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
An operationalization is:
Options :
Key to developing a hypothesis or research question

1. %

The same as a conceptual scheme.
2. ®

Exactly how a variable is observed and measured.
3.¥



Needed only for the independent variable
4. %

Question Number : 85 Question Id : 26544814090 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a problem associated with using websites as sources of
data?

Options:

New websites are constantly appearing while others are disappearing.
1. %

It 1s difficult to find any websites about most topics in business research.
2.9

The sample of websites is only as good as the keywords used to search for them.
3. %

The 'webspeak' 1s complex.
4, %

Question Number : 86 Question Id : 26544814091 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What is distinctive about asynchronous online communication?

Options :

The interviewer and their respondents write at different times.
1.9

It cannot take place on the World Wide Web.
2. ®

It occurs in real time. with participants responding to questions immediately.
3. %



It cannot be conducted by email.

Question Number : 87 Question Id : 26544814092 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
What is a virtual ethnographv?
Options :

The use of visual data rather than written texts for content analysis.

1. %

Virtually trying to understand ethnography.
2. ®

A study that uses participant observation but not interviewing.
3. %

An ethnographic study of an online cominunity or social setting.
4, &

Question Number : 88 Question Id : 26544814093 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Preliminary data collection is a part of-

Options :

Descriptive Research
1. %

Exploratory Research

Applied Research

3. %

Explanatory Research



Question Number : 89 Question Id : 26544814094 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following best suits for 'Action Research?

Options:

1 It is applied research

It 1s quantitative research
2. %

It 1s survey research

It 1s population research
4. %

Question Number : 90 Question Id : 26544814095 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What is the full form for IRS?

Options :

Internal Revenue Service

Indian Readership Survey

International Readership Survey

Individualized Research Study

Question Number : 91 Question Id : 26544814096 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

According to Agenda-Setting Theory, the media influences the public agenda by:

Options :

Giving more salience and exposure to particular topics
1.4

Telling the audience that a topic 1s good or bad

2. ®

3 % Offering all sides and opinions of the issue
Polling viewers and readers about their opinions

4, %

Question Number : 92 Question Id : 26544814097 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Cultivation Theory considers the media's impact on:

Options :

Our perceptions about the social world
1.9

Our beliefs about what is most important
2. ®

Our attitudes toward social issues
3. %

Our willingness to act on persuasive messages
4. =

Question Number : 93 Question Id : 26544814098 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Noelle-Neumann sees the Spiral of Silence Theory as an all-encompassing theory of
public opinion that connects the areas of social psychology, mass media, and

Options:
Sociology
1.
Persuasion
2. %

Organizational communication
3. %

Interpersonal communication
4. &

Question Number : 94 Question Id : 26544814099 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The correlation between the "television world" and reported beliefs about the
world is likely to be the strongest for:

Options :

Heavy television viewers
1.4

Light television viewers

2. %

Children. regardless of viewing habits
3. %

Uneducated individuals. regardless of viewing habits
4. %

Question Number : 95 Question Id : 26544814100 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The correlation function of mass communication is important because

Options :

The media can help maintain social stability.
1.9

The media can keep audiences informed about 1ssues. events and other

5 % developments in society.

The media helps people learn how to fit into society.

Media convergence

Question Number : 96 Question Id : 26544814101 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT one of the primary functions of mass
communication?

Options :

Surveillance

Correlation

Cultural Transmission

Immunization

Question Number : 97 Question Id : 26544814102 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about the fragmentation of media channels is
incorrect?

Options :

The fragmentation of media channels s drastically altering the media landscape.

_— but this trend is lessened by the World Wide Web.

A lack of a commeon media experience can segment groups and hurt the
establishment of a civil society.
2. #

A greater diversity of voices now have better chances of reaching a larger media
audience than in the past because of more media outlets.
3. %

Despite fragmentation. some events still draw record audiences such as big
sporting events or man-made or natural disasters.

Question Number : 98 Question Id : 26544814103 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT true of the commercial forces shaping media
content?

Options :

Commercial decisions often play a role in the type of media content that is
created

Most media enterprises in the U.S. follow a profit model for their operation

Corporate sponsorship plays a large role in funding public television programs in

the U.S.. who get less than a third of their funding from the government
3. %



Large media companies like Time Warner. Walt Disney. and Viacom are global

in scope and therefore rarely dominate local media.
4. &

Question Number : 99 Question Id : 26544814104 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The notion that audiences cannot simply be considered consumers anymore but
often take an active role in producing content is referred as :

Options :

Net Neutrality
1. %

User Generated Content (UGC's)

2. %

Wikis
3. %

Producers
4, &

Question Number : 100 Question Id : 26544814105 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In a digital world, what is a cookie?

Options :

Information that a website puts on a user's local hard drive so that it can recognize
v when that computer accesses the website again

A type of payment for syndicated programming
2. ®

A device that boosts an electrical signal



Cable used for transmitting a digital signal via thin strands of flexible glass

4. %

Question Number : 101 Question Id : 26544814106 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Advertising in a digital world would include all but

Options :

. E-Mail marketing
1.

~ Classifieds
2. %
. Viral Marketing

v Handbills

Question Number : 102 Question Id : 26544814107 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A type of advertising that makes extravagant claims about a product without
saying anything concrete is called

Options :
1w Classified
Display

2. %

Puffery

. Advertorial



Question Number : 103 Question Id : 26544814108 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Classifving content in social media happens through an activity such as

Options :

Alphabetizing

Tagging

3 % Mapping

Line up

Question Number : 104 Question Id : 26544814109 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

was one of the first uses of the Internet and is still the most popular use,
accounting for most of the traffic on the Internet.

Options :

Blogs
1. %

Chat rooms

3 ¥ E-Mail

Discussion Boards

Question Number : 105 Question Id : 26544814110 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Social media audiences differ from those of traditional media because



Options :
Traditional media audiences consume material created FOR them while social
media audiences either dictate the type of product they want or bypass traditional
1 ¢ producers to find products more suitable to their particular needs or desires.
Traditional media audiences tend to be within a certain age. gender. and socio-
economic group, while social media appeals to virtually every age. gender. and

econonic status.

Social media audiences tend to be the mullennial generation while traditional

media are maimly Gen-Y.

Social media audience 1s homogenous

Question Number : 106 Question Id : 26544814111 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Unsolicited e-mail advertising is known as
Options :

Newsgroup
1. ®

Junk ads

2.

Spam
3.9
. Paid media

Question Number : 107 Question Id : 26544814112 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



What makes discussion boards a vital form of mass communication on the
Internet?

Options :
Participants are all experts and offer vital points to the discussions

1.4

They offer free entertaimnment to bored consumers and require stimulating
conversations

Their format and asynchronous nature

Boards need nominal payment

Question Number : 108 Question Id : 26544814113 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Mediated form of communication technology involves storage technology that is

Options :

A process by which a message. or communication. 1s transmitted via some form.

or medinm.
1.9

The second stage in the escalation phase of romantic relationships.
2. %

3 % All forms of communication other than words themselves.

Words and speech
4. %

Question Number : 109 Question Id : 26544814114 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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What key aspect differentiates today's digital media from traditional media?
Options :

Longevity
1. %

Interactivity

2.9

3 % Portability
Stand alone

4. %

Question Number : 110 Question Id : 26544814115 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

According to Harold Innis, centralized administrative systems are controlled by a
few, powerful elite who were favored by civilizations that used the following?

Options :
Gold
, w Plastic
Papyrus
3. %

Stone or clay tablets
4. ¢

Question Number : 111 Question Id : 26544814116 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which is the first narrative feature film in India?

Options :



Pundalik

Raja Harishchandra

Alam Ara

Sant Tukaram

Question Number : 112 Question Id : 26544814117 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Pulitzer Prize-winning Indian Photojournalist Danish Siddiqui was killed in
Afghanistan, he worked for............

Options:

1 ¢ Reuters

Doordarshan

Voice of America
3. %

Kashmir Times

Question Number : 113 Question Id : 26544814118 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Who among the following invented the cinematograph?

Options :

Lumiere Brothers



Mani Sethna

2. %

Dada Saheb Phalke
3. %

Dhirendra Nath Ganguly
4. %

Question Number : 114 Question Id : 26544814119 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following models emphasizes the role of noise and interference in the
communication process

Options:

Shannon and Weaver

Osgood and Schramm

2. ®
. David Berlo SMCR model
3. %
Dewey model
4, %

Question Number : 115 Question Id : 26544814120 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The concept of Transactional model of communication was introduced by

Options :

Shannon and Weaver

Osgood and Schramm



Dean Barnlund
3. %

Adler and Towne

Question Number : 116 Question Id : 26544814121 Question Type
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Who is known as the Father of Panchayati Raj in India?

Options :

Gunar Myrdal
1. %

Balwant Rai Mehta
2.9

Aruna Roy

Mahatma Gandhi
4, %

Question Number : 117 Question Id : 26544814122 Question Type
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following is not true about the grapevine?

Options :

It 1s somewhere between 75% and 95% as accurate
1.9

It 1s found in almost all organisations
2. %

3 % Managers usually welcome its existence

: MCQ Option Shuffling : No

: MCQ Option Shuffling : No



It 1s faster at conveying information than an orgamisation's formal
communication system

Question Number : 118 Question Id : 26544814123 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Development communication creates a space for........ in society.

Options :

Change
1. %

Mass campaigns
2.

Reform

Development
4, ®

Question Number : 119 Question Id : 26544814124 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Our 'self-concept’ which influences our communication behaviour is developed due
to the following factors:

1. Cultural traditions.

2. Self-evaluation

3. Social roles

4. Social organization

Options:
: 1.2and 4
5 % 2.3and 4



1.2 and 3

1.3and 4

Question Number : 120 Question Id : 26544814125 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which era marked the development of communication technology?

Options :
1950's

Early 1970's

2.
1990's
3. %
21 st Century
4.

Question Number : 121 Question Id : 26544814126 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Who said that, "Developmental communication seeks to accelerate social changes
and reduce poverty"?

Options :

Naura Charles

5> % Steven Cubell

Naura -Quebral
3.¢

4. %



Noam Chomsky

Question Number : 122 Question Id : 26544814127 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Arrange the first seven steps to develop a social marketing plan as given by Philip
Kotler.

1. Conduct a situation analysis

2. Identify the competition and target market barriers

3. Develop a strategic marketing mix (4Ps)

4. Describe the plan background, purpose and focus

5. Set objectives and goals

6. Craft a desired positioning

7. Select target markets

Options :
1, 2.3,45 6and 7

1.2.5.7.3.6and 4

4.1.5.6.7.3and 2

1.7.5.2.6.3and 4
4, &

Question Number : 123 Question Id : 26544814128 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

"The complex of values, ideas, attitudes and other meaningful symbols created by
man to shape human behaviour and the artifacts of that behaviour as they are
transmitted from one generation to the next" is known as

Options :

Character



v Culture

2.

3 % Adaptation
Civilization

4, %

Question Number : 124 Question Id : 26544814129 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which act makes Corporate Social Responsibility mandatory in India?

Options:

Corporate Act
1. %

Companies Act

Commercial Act
3. %

Organization Act
4, ®

Question Number : 125 Question Id : 26544814130 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Who propounded Classical Marxism?
Options :

1 % Immanuel Wallerstein

Larry Percy



Philip Kotler

Karl Marx
4. <

Question Number : 126 Question Id : 26544814131 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Under which set of theories and models does Neo- Marxism is included?

Options:

Linear
1. %

5 Non — Linear

Cyclical
3. %

4% Helical

Question Number : 127 Question Id : 26544814132 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What is the meaning of Unilinear development?
1. Consistently developing

2. Single development

3. Steady path development

Options :

Only 1 correct
1. %

Both 1 and 2 correct
2. %



1 and 3 correct

1. 2 and 3 are correct
4. &

Question Number : 128 Question Id : 26544814133 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The right to liberty and freedom is a

Options :

Human Right
1.9

Judiciary saying
Convention

Fundamental Right
4, ®

Question Number : 129 Question Id : 26544814134 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
MNREGA stands for?
Options :

| % Mahatma National Rural Employment Guarantee Act

Mahatma Gandhi National Regular Employment Guarantee Act
2. %

Mahatma Gandhi National Rural Employment Guarantee Act
3. ¢



Mahatma Gandhi Nation-wide Rural Employment Guarantee Act

Question Number : 130 Question Id : 26544814135 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following term used by Manuel Castells?

Options :

Pre-modern society

Risk society

2. %

Perceived necessity
3. %

Network society
4.«

Question Number : 131 Question Id : 26544814136 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Who coined the term. ‘Pack Journalism”?

Options :

Raymond William
1. %

Karan Thapar
2. %

Timothv Crouse
3. ¥ :

Richard Rosenberg
4, ®



Question Number : 132 Question Id : 26544814137 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Press Council Act was enacted in the year ......covvvvvvnivnnnnnnnd?
Options :
1960

1. %

1982

1987

1978

Question Number : 133 Question Id : 26544814138 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Sociologist popularly known for his theory on the concepts of communicative
rationality and the public sphere?

Options :
George Gerbner

1. %

Jiirgen Habermas
2.9

Stuart Mill
3. =

Marshall Mec luhan
4, =

Question Number : 134 Question Id : 26544814139 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



........................ is the entirety of ideas, perspectives, attitudes, images, and other
phenomena that are within the mainstream of a given culture?

Options :

Popular culture
1.4

Material culture

2. ®

High culture
3. %

Low culture
4, %

Question Number : 135 Question Id : 26544814140 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Consider the following statements.

I) Facilitate the development of social hierarchies
II) Not interested in expansion across geographical boundaries

III) Durable, heavy and difficult to move

According to Harold Innis, above statements are related to which type of
communication media?

Options :

Time biased media
1.4

> % Space biased media

Print biased media

Electronic biased media



Question Number : 136 Question Id : 26544814141 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The book ‘The Long Revolution’ is written by?

Options :
Harold Laswell

1. %

Raymond William
2. ®

Marshall Me luhan
3. %

Jiirgen Habermas

Question Number : 137 Question Id : 26544814142 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

According to Habermas, a variety of factors such as the growth of commercial
mass media and ......................... caused to eventual decay of the public sphere.

Options :

Accessibility of technology
1. %

Scientific development
2. %

Welfare state
3. v

Emergence of print media
4, %

Question Number : 138 Question Id : 26544814143 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following statements

I) It provides commentary on a particular subject

II) It functions as a more personal online diary;

III)  Suitable to online brand advertising of a particular individual or company

These statements are mainly related to ..........cooovvivnniinnnn. Virtual
communication

Options :

Whatsapp

Blog
2.9

Meta
3. %

Telegram
4, =

Question Number : 139 Question Id : 26544814144 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The interconnection of information and communications technologies, computer
networks, and media content in a digital atmosphere is referred to as:

Options:

Media convergence
1.9

Media diffusion
Media integration

3. %

Media regulation

Question Number : 140 Question Id : 26544814145 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following theorist proposed that ‘hegemony was a form of control
exercised primarily through a society's superstructure’?

Options :

. Raymond William
1.

Antonio Gramsci
2.9

Marshall Mc luhan

Jiirgen Habermas
4, ®

Question Number : 141 Question Id : 26544814146 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Web 3.0 is also called as

Options:

Adhere web

Sentence web

Tactic web

Semantic web
4, &

Question Number : 142 Question Id : 26544814147 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The systems theory of public relations, is described as a set of united



Options :
Pressure groups
1. %

Sub-systems
2. ¥

. Employee systems

Production system
4, ®

Question Number : 143 Question Id : 26544814148 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following facts/statement is not true for methods and tactics of
corporate communication?

Options :

Formulation and guidance of policies
1.+

Management communication
2. %

Marketing communication
3. %

Organizational communication
4, %

Question Number : 144 Question Id : 26544814149 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Handling the social aspect of the brand and establishing a positive reputation in the
social niche like environment protection, education, etc is called as:

Options :



Community relations

1.9

Media relations
2. ®

Government relations
3. ®

Customer relations

Question Number : 145 Question Id : 26544814150 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What is the biggest change in crisis management of an organization in the current
scenario?
Options :
Public relations

1. %

, x Corporate communications

Revolution of social media
3.

Crisis communication

Question Number : 146 Question Id : 26544814151 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Sales records are an example of data.
Options:

1 % Primary

2. ¥



Secondary

3 % Marketing information system (MIS)

4% Marketing decision support system (DSS)

Question Number : 147 Question Id : 26544814152 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following is not a component of the marketing
information system (MIS)?

Options:

Internal reports system

Marketing intelligence system
2. %

Marketing information assistance system
3.v

Marketing decision support system
4, ®

Question Number : 148 Question Id : 26544814153 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Exploratory research focuses on:
Options:

Collecting either secondary or primary data and structures and interpreting those
structures in an unstructured format using some type of an informal set of
1« broc edures



Using a set of scientifically based methods to collect data and create data
structures that are used to identify. determine. and describe existing
characteristics of a defined target population or market structure under
mvestigation

Collecting raw data and creating data structures that will allow the decision
maker to model cause-and-effect relationships between two or more market
variables under nvestigation

3. %

Testing hypothesized interdependence between two or more variables

4, %

Question Number : 149 Question Id : 26544814154 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Scale reliability refers to:

Options :

The scale's ability to significantly differentiate between the categorical scale-point
_— description

The extent to which a scale can produce the same measurement results in repeated trial
2. ¥

A technique of measuring scale reliability by administering the same scale or measure

to the same respondents at two different points in time to determine scale stability
3. %

The violation of distance and origin properties
4, %

Question Number : 150 Question Id : 26544814155 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



A specific type of concept that exists at a higher level of
abstraction is called:

Options :

A scale

A measurement
2. %

3 ¥ A construct

Reliability
4. %





